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000000 O!'e6. Which line in the following is perpendicular
to line y = 5x Answer include: y =-5x, y= (1/5)x, y = (-1/5)x
Answer y=(-1/5)x, as slope of linel multiple slope of line2 =-1V2
O y=5x0 0 O 0O 0O y=-1/5x 67. A new type of graph question, 30
students in a certain, please refer to the above graphic which indicate
the relationship between the no of students and the frequency they
did certain activity (not accurate), ask what’ s probability for a
student to did certain activity more than 1 time of the median (or
average!! 1 D 00 O0O0O0OO0OOO0OOOOO Mediand [

[1 averagel] ) of the group V2 a chart, show how many students
taking how much time to finish a task ask percentage calculate the
first two bars and the last bar 68. 2(2/3) 5(2/3) is how many times of
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00O 70. 0 O O take driver test, writing test and road test. exactly
pass one x% ask what the % passed at least one test answer either [
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